raw diagonal cross lines on the remaining blank pages.

Important Note : 1. On completing your answers, compulsorily d
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wafh Semester B.E. Degree Examination, Dec. 2017/Jan&‘2§\};18

j Module-1 {f‘ ::\)
a. Compare client server, \Perl—to -Peer architecture. \, g\,// (05 Marks)
b. Describe HTTP w1th~§e istent and non-persistent conn i{§‘ ‘ (08 Marks)
c. What are the services pmyi&é;d by DNS? ¢ \ (03 Marks)
S N f\ N :;,
{\E/-'\“{} OR ’:«n \\\-\\}
a. Demonstrate socket unplemenf\tlon using TCP. e ,z (08 Marks)
b. Write a note on web caching. W i 6 WV 5 ? (04 Marks)
¢. Illustrate the basic operation of S‘Mgﬂ? with a,n: hxarﬁple (04 Marks)
e &t»i‘\fgf
dule=2
a. Elaborate the three way handshaking in TCY, (05 Marks)
b. Discuss Go-Back N protocol. o S Sy (06 Marks)
c. Explain the connection-oriented muklplbxmgfﬁn hde-multiplexing. (05 Marks)
'“'::‘:**:;;‘? K‘Q -
<‘\-§“\£f( OR )
a. State congestion and discuss the c,axise of conges Y Pt ;} (04 Marks)
b. With a neat diagram, explalpthe TCP segment struéfupg/x (08 Marks)

¢. Suppose that two measured sanﬁ le RTT values are 106 gisand 120 ms. Compute:
i) Estimated RTT afteyga 1}» f these sample RTT valtig is s‘gbtained. Assume o = 0.125 and
estimated RTT is G@lméec just before first of the saﬁiﬁlﬁe&;ﬁbtamed
ii) Compute DevRTYL;
Assume B = 0.25 gml DevRTT was 5 msec before first of theséi@les are obtained.

.......

(04 Marks)

Fig.Q5(a) (08 Marks)
b. What is routing? Explain the structure of a router. (08 Marks)
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g‘f\:}s the IPV6 packet format.

b/ ate the path attributes in BGP and steps to select the BGP routes.
List the¢broadcast routing algorithms. Explain any one of them.
< &

N

w(05 Marks)
(06 Marks)

\7 /;":‘l Module-4 i,
Show the'eg HSonents of GSM 2G cellular network architecture wi/tlg a diggram. (07 Marks)
Illustrate thcz)s/gpﬁ involved in mobile IP registration with home agéx\& (05 Marks)
Write a note %fé@bile IP. (04 Marks)
LN
.@:y}z,z )
o 3\ OR NV

Define Handoff. Expﬁ&in,,ghe\steps accomplishing a handoff, N (07 Marks)
Bring out the mechanisrﬁf,\{@@é:{rect routing to mobile n@;ré: E{f obility management.

\::ié;w:;j\ \“ >y (06 Marks)
Compare the 4G LTE stan ard % 3G systems. k\\\\&\ (03 Marks)

¥ A
L Module-5V |7
Elaborate the features of streamifigStgred vided.... N (03 Marks)
With a neat diagram, explain the C %b ratiohy/ (08 Marks)
Summarize the limitations of Best-effé f%ieﬁice. (05 Marks)
HOR &
Explain the diffserv internet architeeturé.” <2 (05 Marks)
Describe the leaky bucket policing meth nist 7 (06 Marks)
Discuss the round-robin and waiggc}&fgfi'r queuing sc "‘é‘c}uling mechanism. (05 Marks)
N
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